20228 & 20

&b L BESI A = AL TH

A S AT
M SAONY

Chel: eI M+

2 1t

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
& AITH &4 2t 33,767,539 35,778,656 £2,011,117
hag 7,573,000
= 1,467,000
Al 24,727,539
S AR 27,178,231 21,785,497 5,392,734
rag 6,123,000
& 1,467,000
Al 19,588,231
Zte| Hl &2 g 151,640 721,648 A570,008
TAIH 8,640 6,048 2,592
202 044l 8,640 6,048 2,592
01 2LHOHI 8,640 6,048 2,592
OZANNE2E dRF& 8,640
22l AHE =X 143,000 715,600 A572,600
201 LBt A H| 76,000 15,600 60,400
01 At 22l ] 76,000 15,600 60,400
Ogst=2H| 3,000
— SAIAHE A AEY 72 3,000
O == 18,000
—SAAHERKARS Fe+
100,000& 15 x123] 18,000
O&ds++2X3 55,000
—EXNHEEEI 23 30,000
—SAIIEHS Tl FHALEES HS 25,000
203 ¥ R =&t 2,000 2,000 0
03 Al ZH =X AR =XIH| 2,000 2,000 0
OZ A2 HE =& 2,000
207 Ao Y| 60,000 693,000 A 633,000
01 A2 &<l 60,000 693,000 A 633,000
OZAHEHEAMA(PIS) R 4 40,000
OEAAHEIZEZA EEXMHA SA 22 20,000
401 AIEHIL 200 5,000 5,000 0
03 Al& 201 1] 5,000 5,000 0
OEAJIZ2AHE L SAIZ2HE =X 5,000
& AL TH A 13,392,059 11,162, 161 2,229,898
rag 6,123,000
= 1,067,000
Al 6,202,059
SATHAY 43 1,428,059 119,161 1,308,898
101 @1 21| 361,400 98,501 262,899
04 JIZtHI2E2EXNEE 361,400 98,501 262,899




2N

S AL TH 24 Dt

S S AN
Sl S A A
SA - ZE-B(EA) - NRAY - B S il &t o il
OZANTHMXAHEHH 60,795
—Jl=s 3,002,500& x12& 36,030
—Qlx=g 117,569& » 128 1,411
—52Z2RE 14,6963 1.5+ 16 Al 2+ x12& 4,233
—ZU2ZRE 14,6963 x1.5+30A 2+ x12& 7,936
— &&= 3,224,760& 33 9,675
— =& 56,800& 12 682
— ZHAY] 3,0003 *23 128 828
OZANTHEXNAEEH AR JEXNJAHHE 92,471
—Jles 2,526,400 « 123 23 60,634
— QX 99,3453 x12& +2H 2,385
— 522
12,4183 1 5% 16A| 2t x 12 x2H 7,153
—ZU2ZRE
12,4183 1, 5«30 A| 2t x 12 x2H 13,412
—EAZ 2,933, 1102 »1& »x2H 5,867
— =& 56,8003 x 12 2 H 1,364
2hALH| 3,000 23 123 x2H 1,656
OZATHMESETXNAE A 208,134
—Jlas 2,273,200 128 x5H 136,392
—Xt==g 89,6543 x12& +5YH 5,380
—5YZ2RE
11,2073 1.5« 16 Al 2t x 128 x5H 16,139
—ZUZRFE
11,2073 *1.5«30A| 2t 12 x5H 30,259
— &&= 2,483,130 »1& »5H 12,416
— &4 56,800 x 12 x5 3,408
— 2hAlH| 3,0003 23 x12& «5YH 4,140
201 L2 | 65,659
01 At 22l 46,780
2da4 8,580
—SANMMRARE 2o =
130,000& »15H *43| 7,800
—JIZtH 224 HE 8E =¢
130,000 »3H »23| 780
Oget=&H| 38,200
—HdEHAMRES 200,000 *30H A+ 12 7,200
—88= 5,000,000& x23l 10,000
—cIEH, a4 5,000,000& »23| 10,000
— @9 H A 50, 000& *2JH4 103 1,000
—ANESmX2a 10,000, 000& 14! 10,000
02 2322l 18,879
02323 2 HA 18,879




A S AT
M SAONY

Chel: S ALTH 24 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—0t=E2 M2 #JI232 1,000,000&*12& 12,000
— == ANEE SHe= 150,000& =128 1,800
—0IES2 N2 dot=Eea S
80,000& «x12& 960
OIEE2 A& Agtord e e
198,000& =128 2,376
—0IE2 Ag sLIeT B
145,200 128 1,743
203 YR =&l 1,000 1,000 0
03 AIMF=XH 2 =AH| 1,000 1,000 0
OEAMNTHEHR =& 1,000
207 A O] 100,000 0 100,000
01 289 100,000 0 100,000
OSANWY -3t (HA )+ 20,000
OZATHA oA &2t 20,000
OSAITHA HI| AAIX 22t 20,000
OZANTHMEHAHAEA AS2s s 20,000
OSANMHY A3 (0, dH,2M) 20,000
401 Al HIZ 201 8] 900,000 0 900,000
01 A& HI 900,000 0 900,000
O =8 SHFMHAS 500,000
OZA MM S LAS (RX) 400,000
AN+ FEX(LLotelzd DAL =H) 890,000 900,000 A 10,000
s 787,000
Al 103,000
201 Let24E] 10,000 0 10,000
01 At 22l 10,000 0 10,000
ootelge g2 10,000
—EB2s 4,000,000& %23 8,000
—clE2H 2,000,000& x13] 2,000
307 21201 A 70,000 0 70,000
02 QB LA EX 70,000 0 70,000
Oooteld AEel8d & 208 24 20,000
OO0t EMsts 23 FANEY 30,000
ootgolrg skt 20,000
401 Al HI L =2 Tl 810,000 900, 000 290,000
s 787,000
Al 23,000
01 A& HI 810,000 900,000 90,000
Oogaotel& o 0l0kD], otelgy DML =4
A 810,000
s 787,000




2N

S AITH &4 2t

M A
Rl : T Al RH A e ™)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
| Al 23,000
=S SAMM SEAS 5,210,000 3,767,000 1,443,000
as 3,126,000
< 625,000
Al 1,459,000
101 @121 171,119 167,622 3,497
04 JI2ZtHZ2E2XNEE S 171,119 167,622 3,497
O AWM EX & HEHE 46,237
—-JI=23 2,526,400& x12& 30,317
— X< 99,3453 x 12 1,193
- guze
12,4182 x 1200 E x 16 Al 2+ +1 5H * 1Y 3,577
o L
12,4182 x 1200 & *30Al 2+ +1 . 5B« 1Y 6,706
— 2tAH| 3,000& #1200 & 23 x1H 828
—&&3 2,933,110& x1H 2,934
E &bl 56,800& x 12 x1H 682
OZAMMSEXIALHEH S 124,882
—-J23 2,273,200 x 128 x3Y 81,836
— AX =G 89,6543 x 12 x3H 3,228
-gu2e
11,2072 « 1200 2«16 Al 2+ +1 . 581 3L 9,683
—zB2e4Y
11,2073 « 1200 & *30Al 2+ +1 . 58 3L 18,156
— 2tAlH| 3,000 * 120 & 23 *3YH 2,484
— &332 2,483,130& x3Y 7,450
— &3 56,800& x 12 x3H 2,045
201 et A | 19,400 10,450 8,950
01 AFR2t2l Yl 19,400 10,450 8,950
OZAMMAESXALMEH 29 19,400
—HEH AMREE 2,400
i 5,000,000& *x23] 10,000
—clEH, AAX 3,000,000& *x23] 6,000
— 89 H& 50,000& *2J1 =103l 1,000
207 A FOH | 380,000 120,000 260,000
01 A2 E849Y| 380,000 120,000 260,000
OFoUSA A= 380,000
301 et M= 8,400 28,720 N 20,320
12 JEtE &2 8,400 28,720 N 20,320
ORSAA L FOUINE B85 44 8,400
— 2ZAIE 40,0003 x83| x5t S *x3& 4,800
— F0JIXNS &5 =2 300,000&*12&+1H 3,600




2N

S AITH &4 2t

BE: CAHY
Chel: S ALTH 24 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 60,000 20,000 40,000
02 PIZHEHAHEE 60,000 20,000 40,000
OZATHAY =0IIZ2AY 10,000, 000& 64 60,000
401 Al Bl 28I 1,071,081 1,913,788 AB42,707
= 251,000
Al 820,081
01 A& HI 1,070,081 1,913,788 A 843,707
OJ=2s EANMY OS2 ALY 1,070,081
= 251,000
Al 819,081
03 Al 2 0HHI 1,000 0 1,000
OJt=8 ZAHY LAY =2 1,000
403 XAXISHM S K201 A 3,500,000 1,500,000 2,000,000
= 2,875,000
< 625,000
02 SO 2SOICHe U2 E A I 3,500,000 1,500,000 2,000,000
OaM=ddH At 9IS 3,500,000
= 2,875,000
< 625,000
MES TAMY SLAS 3,683,000 3,500,000 183,000
s 2,210,000
< 442,000
Al 1,031,000
207 A RO 25,000 0 25,000
NEEEET 25,000 0 25,000
O2UEHY 89 25,000
307 glz2tol & 20,000 0 20,000
02 It HAHEE 20,000 0 20,000
OZATHA =RZ2ALY 20,000
308 XXX SO0IA 572,270 567,622 4,648
N 3JN2SUHUS3AEAE A I 572,270 567,622 4,648
OEXJHH 29 63,712
OSZXNJAHE eIt 318,558
—HHE 123,748
—8% 58,362
—E2(3Y) 136,448
OCusZz ) dH 29 190,000
401 Al& Bl & 28I 565,730 412,378 153,352
S 152,000
Al 413,730
01 A& HI 564,730 412,378 152,352
OES TAHY OIS AtY 564,730
= 152,000




A S AT
M SAONY

Chel: S ALTH 24 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 412,730
03 Al 2 THHI 1,000 0 1,000
OU=Es TAMY DtSS A F& 1,000
403 XIS S X201 & 2,500,000 2,520,000 220,000
s 2,210,000
< 290,000
02 SO 2SO HEHAHE X &AL H 2,500,000 2,520,000 20,000
OHBIMHLAY A 2,500,000
s 2,210,000
< 290,000
s SAHA Gl A 200,000 0 200,000
201 £Br2%| 60,000 0 60,000
03 A2 S HI 60,000 0 60,000
Ouns TATHM 0N A 60,000
207 A O] 70,000 0 70,000
01 289 70,000 0 70,000
O=pde2dst N 70,000
401 AIEHI L 201 70,000 0 70,000
01 A& HI 70,000 0 70,000
OSAITHA OldlAH 70,000
HY - LHOls SAITHA Ot== At 1,981,000 0 1,981,000
401 Al HI K 201 I 1,981,000 0 1,981,000
01 A& Hl 1,981,000 0 1,981,000
ozoteld 2atdH =4 1,981,000
SAAHEER 13,283,000 9,602,000 3,681,000
< 400,000
Al 12,883,000
Ltew & SAHEEZZ 4 2,000,000 1,500,000 500,000
401 A& HIZ 201 Y| 2,000,000 1,500,000 500,000
01 A& HI 2,000,000 1,500,000 500,000
Oltew HZ SAHEEZ SHSAE EXSA 2,000,000
YRS o TAHEZTZOHNS 400,000 300,000 100,000
401 Al HIZ 201 8] 400,000 300,000 100,000
01 A& HI 400,000 300,000 100,000
oo TAANETZ M4 (L=272n, B=10.
Om) 400,000
FE2AN2~0I2g=w2t STAHEEZ2HE 750,000 200,000 550,000
401 A& HIZ 201 I 750,000 200,000 550,000
01 A& HI 750,000 200,000 550,000




2N
X ZH -
L= B

el

S AITH &4 2t
S ADHE
SAAHEER

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OF2X2~0leldxzwzt TAHEZZIHE (L=2
40m, B=8.0m) 750,000
(F)3S~staA2F TAHEEZZINE 550,000 200,000 350,000
401 Al& I 28I 550,000 200,000 350,000
01 A& tI 550,000 200,000 350,000
O(F)atg~sta 2t TAIHE S 24 (L=231
m, B=10.0m 550,000
s uE XA 1,500,000 1,000,000 500,000
401 AIEHIZ 28I 1,500,000 1,000,000 500,000
01 A& HI 1,500,000 1,000,000 500,000
O3 MuI2 XA (14) 1,500,000
a2 u~stAHE OHIE 28 TAAHEE 1,000,000 900,000 100,000
< 200,000
Al 800,000
401 Al HI & 28I 1,000,000 900,000 100,000
< 200,000
Al 800,000
01 A& HI 1,000,000 900,000 100,000
OMZW~BHAHE 28 TAIHEEZZ HEAS(L
=730m, B=25.0m) 1,000,000
< 200,000
Al 800,000
2QME SAHEEZ HE 100,000 200,000 A 100,000
401 Al& I 2 O8I 100,000 200,000 A100,000
01 A& HI 100,000 200,000 A100,000
OZME TAIHEZZ JH&(L=3,600m, B=8.0m) 100,000
Wols 88z TAHEZZ FH| 1,000,000 1,500,000 A 500,000
401 Al& I 28I 1,000,000 1,500,000 A 500,000
01 A& HI 1,000,000 1,500,000 A 500,000
ouols A8z TAIHEE=Z FHI(L=160.0m,
B=12.0m) 1,000,000
SEdEN FEH ZAHEEZ 600,000 900,000 A.300,000
< 200,000
Al 400,000
401 Al HI 2 28I 600,000 900,000 A.300,000
< 200,000
Al 400,000
01 A& HI 600,000 900,000 A 300,000
Odd=z F8 SAAHNEZZ HEAS(L=37
7m, B=12~20m) 600,000
< 200,000
Al 400,000
TS24 1,112,000 962,000 150,000




2AM:
DE AR

el

X ZH
S =

S AITH &4 2t

SAAHEER

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
203 YR =&l 2,000 2,000 0
03 Al F=XH R =AH| 2,000 2,000 0
OEANHEEZ =4 HR2FA 2,000
401 A& HIZ 2018 1,110,000 960,000 150,000
01 A& HI 1,100,000 950,000 150,000
Oz & HEAMEE HES(ZAHE=Z, Xt
dHEZ, aild) 300,000
OEANHEEZ 0I=EXNEY 200,000
OZANAHEETZ AAEHESHH 100,000
OZAHEEZ HEAS 500,000
03 Al 2 0HHI 10,000 10,000 0
OZANHEZ2ZAY =& 10,000
&30~ BEAAZ SAHEEZ HE 500,000 40,000 460,000
401 A& HIZ 201 Y| 500,000 40,000 460,000
01 A& HI 500,000 40,000 460,000
O&33oL~7 . EAHAZ2E SAAHEEZZ HE 500,000
St~ LA DIZHHEEZ KISSHALY 1,171,000 0 1,171,000
403 MtXISHH S0l & 1,171,000 0 1,171,000
02 S 2SO HEAE X 2 E AL H 1,171,000 0 1,171,000
OtE~U2A2t A LZ XSHAS (14]) 1,171,000
ol Was1el ZAHEEZ 400,000 0 400,000
401 AIEHI L 2 CHYI 400,000 0 400,000
01 A& HI 400,000 0 400,000
Of&d UWaiel TAHESZ(L=30m, B=6.0m) 400,000
== SFU4ZEA TAAHEEZ IHE A 500,000 0 500,000
401 Al HI K 201 I 500,000 0 500,000
01 A& Bl 500,000 0 500,000
Oll=s EFM=A TAAHEZZ A (L=300m
B=6.0m) 500,000
HNEOIME Y RIIET2 HE MY 700,000 0 700,000
401 AIEHI L 201 700,000 0 700,000
01 A& HI 700,000 0 700,000
OXEOIE A 232 A A (L=230m,
B=8.0m) 700,000
SHE~ QA2 B SAUHZ XSSHALY 1,000,000 0 1,000,000
402 RIZ2ER201 ™ 1,000,000 0 1,000,000
03 212t EF AL HI 1,000,000 0 1,000,000
OB E~UAA HBSUME KSSAY(14])
1,000,000, 000 1,000,000




A S AT
M SAONY

el Aldel (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al & 2te| 351,532 299,688 51,844
S Z A2 351,532 299,688 51,844
101 @1 21| 61,932 45,088 16,844
04 JIZtHIZ2E2XNESE 61,932 45,088 16,844
ON2XNGHHEZ (2HA) BH4& 2 JHEHE2A
22| 10,854
—-Jl2= 73,2803 «100L +1H 7,328
— F=XE 73,2803 162 x1H 1,173
— AX =G 73,280 x4 +1H 294
— 52422 73,2802 %1 516 *x1H 1,759
— 2FALH] 3,000& 100 x1H 300
Oodll® AMENot& 22l 44 631
—-JI=23 73,2803 208 «2H 30,485
— =X 73,280 x32 x2H 4,690
— X E 73,280& x8& *2H 1,173
— 52422 73,2803 *1.5%32 2 H 7,035
— 2HAH] 3,000& *x208L x2H 1,248
Ooug =133 S22 6,447
23 73,280& x60 x1H 4,397
— F=X=E 73,280 9 «1H 660
— AX G 73,2803 x32L x1H 220
— 522 73,2803 x1.5%9U x1H 990
— 2HAH| 3,000 *60 x1H 180
201 Bt A H| 215,600 195,600 20,000
01 AR 22l ] 27,600 27,600 0
Ogbt=2H| 17,600
— oM AMEHOIE 22|, TAIJHEAIS AH &
ANRES 14,000
— 201 HHIAAE S X 22l d] 3,600
Ogexts 10,000
— NEAHEZ S22 bl & Xt 10,000
02 352 H| 168,000 168,000 0
O332= % HA 125,000
—HIL2(cHMMENSIA 2 3 A) 120,000
—CCTVSRA 2 (A MENBIAE 2 10HA) 5,000
OH ZHl 1,000
— XolXE HAae2AI A= 1,000
OA & &Hl S X 42,000
— ol A MENGHR , KGRI =, ANEAHF=XE 22 36,000
— ol MENGHRE MI|otAEzZte (el S
500,000& x12& 6,000
03 S AFS H H 20,000 0 20,000




2N

S AITH &4 2t

S S AN
el Aldel (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUL=Dtatet X& Lt A8AMY T34 20,000
206 M= Hl 4,000 4,000 0
01 MHZ 8l 4,000 4,000 0
Odld H3sE(ENS) 7L 4,000
307 gl2tol & 70,000 55,000 15,000
06 2= 70,000 55,000 15,000
OAN2XEAN 2& It 70,000
S ADIBE B E 3,706,000 11,506, 000 27,800,000
s 1,450,000
Al 2,256,000
SEUHSHE 3,706,000 11,506,000 A7,800,000
s 1,450,000
Al 2,256,000
OlE2Z52HX dgdug X 1,706,000 1,400,000 306,000
s 1,450,000
Al 256,000
401 A& HI R 201 I 1,706,000 1,400,000 306,000
s 1,450,000
Al 256,000
01 A& HI 1,216,000 1,000,000 216,000
Oded=soEaz SLHNMLE2HL (D
L T Z2IHE L=224.0m, B=13.0m) 1,216,000
s 1,216,000
02 Zeltl 490,000 400,000 90,000
OZLYsHEZZE S JYEZ N 490,000
s 234,000
Al 256,000
LIS 30t HAAIE ZEAMY 2,000,000 1,100,000 900,000
401 A& HIZ 201 8] 2,000,000 1,100,000 900,000
01 A& HI 1,800,000 1,100,000 700,000
OULZotatEr AHAIE A A (L=360.0m, B
=15.0m) 1,800,000
02 2eltl 200,000 0 200,000
OUL=Jrate AAHAIE ZEAY 200,000
cExY 2,722,107 2,349,996 372,111
C2XH 2tel 2,722,107 2,349,996 372,111
t2s8ets | 2el 2,722,107 2,349,996 372,111
201 Let24E] 202,451 160,315 42,136
01 At 22l 36,667 36,667 0
OgBt=&H| 34,651
~JIRE S GHAIS YasE
9,020& 1,717 15,488




2N
X ZH -
L= B

el

E2xg 2el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
“JIZE =d0 0FAY AEaaE
53,570& 296 M 15,857
~ QoS SE UMY As+4E
21,8902 *1515 3,306
O=gtl 2,016
—S&Es sS4l 8,000& 74l 128 x3& 2,016
02 =224l 165,784 123,648 42,136
03323 % HA 24,940
— g F2XY dIlead 2,000,000& 123 24,000
— NS XA 60,0003 »2CH 120
—SFNERE = 120,000& * 12/ 120
—NsSHEE = 350, 000& »2CH 700
OXrg & et 12,720
— S &4l 504 *93]*1,600& =128 8,640
— &l 2,000,000 *2CH 4,000
— & J1 & Atdl 40,0003 »2CH 80
OAEZHIS X 128,124
—JI2 . 20ots FII&EH 2HEAMNE H=>
200,000& 15,7815 *2% 63,124
—ZJAXH BHE RAEF
60,000,000 » 14! 60,000
— 2 BosS ZelANLAE SRAAES
5,000,000 » 14l 5,000
202 o4dl 2,100 2,100 0
01 = LH o4 1l 2,100 2,100 0
OJtz . 2ets 2= 2,100
206 M= Hl 195,356 367,584 AN1T72,228
01 =8l 195,356 367,584 A1T72,228
Oz . 2ets E==XH 195,356
— LEDS 21+ (50/100/ 150W)
450,000 *9,2285 +0.6% 24,916
— LEDZA B &4 (50/100/ 150W)
100,000& %9,228= +0.6% 5,537
— COME = (70/150W) 35,0003 %6,553= *14% 32,110
— COMCFE J1 (70/150W) 35,000 *6,553S *14% 32,110
—GPS EStS |LIE  70,000& 10,7135 *8% 59,993
—GPS 2ots EZEIJl  100,000& *10,713S *2% 21,426
—Jt2S ZHEEHO Il 500,000 *3592H x1% 1,795
— SEXSI (L ==3/15A/30A)
20,000& %15,7815 *3% 9,469
—dd L EHETM(30T) 6,000,000 » 14! 6,000
— g7 L AHESZ? 2,000,000 » 14l 2,000
401 Al HIZ 2018 2,322,200 1,749,997 572,203




A S AT

HM: 22X

ool S 2XY 2e

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A H| 2,319,200 1,746,997 572,203
S0HE BoE 4dX(d 8HE) 600,000
—8ots &X 1,200,000& *x5005 600,000
S JI2 . 2EoE XM (M S8E) 526,200
—Jt2 BorsI|# e & Fl
77,220 %7775 526,200
OJIZ2 . Bots 2188 & (DA <) 88,000
-5 0148 2 798 88,000, 000& 14! 88,000
ON2E ZAHAHAAE (SES) =
150,000, 000& 14! 150,000
Oozgn HA2xXH 4| (L=400m)
900,000,000 * 14! 900,000
= Wiz XY9g 4 55,000, 000%1JH &~ 55,000
03 A& 20 b 3,000 3,000 0
Oz . 808 &X & AUl 3,000,000& x14] 3,000
HH2AAH (TAID) 161,201 137,163 24,038
ol 23| 68,451 66,543 1,908
ol 68,451 66,543 1,908
101 @121l 68,251 66,543 1,708
03 2LE(RIHS)22XHE L 68,251 66,543 1,708
OJdiz . Bots 22 68,251
—-JI=23 3,524,780&3 x12& x1H 42,298
—gAEY 6,756
AR Y 28, 150& *20Al 2t x 128 6,756
—HREHASE 130,000& *12& x1H 1,560
—Xd8Y 866,920 128 »1H 10,404
— g4 40,000*12& =14 480
—ItEY 720
HH S XH(1H) 40,000 x12& =14 480
4 (29) 40,0003 *3& *x2H 240
— BE FItHI 3,524, 7803 *60%* 1H *23] 4,230
PN 150, 170& =12 x1H 1,803
201 et A | 200 0 200
01 AFR22t2l Yl 200 0 200
o=l 200,000 *1H 200
PIEET 92,750 70,620 22,130
JlE2&l 92,750 70,620 22,130
201 et A | 26,664 24,000 2,664
AP 22| HI 26,664 24,000 2,664
OfME2d9 JI=2&8tl 26,664




2AM:
D MAES2IAIH (S AID)

el

X ZH
S =

S AL TH 24 Dt

Jl=23tl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 61,886 42,420 19,466
01 = LHA YI 61,886 42,420 19,466

O =L HI 61,886
203 YR =&l 4,200 4,200 0
04 FN2ELSZTH| 4,200 4,200 0
ORNE2Y R4 4,200




